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0 0O 00O 10 What is mainly discussed in this passage? 201 What is
the author&acute.s main concern? 3] The main idea of this passage

maybe best expressed as . 40J The Oselection informs us
that . 5.Which sentence contains a statement of the
theme? 61 The best title for this passage could be 7

[] The article was written to explain .81 The main




purpose of this article is to explain . 9] In this passage

the author tries to interpret . 100J The topic of the
passage Is . 1100 The passage (or paragraph) mainly deals
with doudodoodoboooboooao
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OJ0000000000000000100 00 Itwas once
thought that air pollution affected only the area immediately around
large cities with factories and/or heavy automobile traffic. Today, we
know that although these are the areas with the worst air pollution,
the problem is literally worldwide. [ (1 [ This passage is primarily
concerned with . A. the greenhouse effect B. the burning of
fossil fuels C. the potential effect of air pollution D. the likelihood of
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[ O O O The media can impact current events. [1 [J [1 The best
title for the passage is . A. The 1992 Los Angeles Riots B. The
Impact of Media on Current Events C. The 1989 San Francisco




Earthquake and the 1992 Los Angeles Riots D. How Media Cover
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0 0O 0O 1. What causest] [ ? 2. What is special about [1 ? 3. Why
does the writer [1 . ? 4. It can be seen from this passage that(] .. ? 5.
Which of the following characterizes [1 . . ? 6. Which of the following
Is mentioned in the passage? 7. Which of the following statement is
(NOT) true? 8. The writer mentions all of the following EXCEPT

. 9. According to the passage who (when, where, what,
whose, how)d 10. The reason for I is .11. 0. can be
attributed to .12. 0 . in that . 13. What does
the example of [ . illustrate? 14. The example of L1 in the passage is
used to . 15. The author state that . 16. The author
quotes [ . in paragraph x because Ouooodoodo
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OO0 O0O00O210 00 As the heat increases, the young
hurricane begins to swirl in a counter-clockwise motion. The
counter-clockwise swirling of the hurricane is brought about by

. A. the low-pressure area in the center of the storm B. the
force of waves of water C. the trade winds D. the increasing heat [
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I In a barter economy it would be necessary to determine how
many plates were worth one hundred weight of cotton, or how many
pens should be exchanged for a ton of coal, which would be a
difficult and time-consuming task. A barter economy is one in which
____.A.value is decided by weight B. value is decided by number C.
goods are exchanged and money is not used D. money is used and
goodsarenotexchanged D U OO0 O OO OO0 OOOO
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0000000 10 The phraseld [ . in paragraph X most
probably means .20 1Theword O O in Line X
Paragraph Y can be best replaced by . 300 According
to the author, the word LI [LJ means .40] The sentence
(1 0. .in paragraph X refers to . 500 According to this
passage, the expressionl] [1 can be interpreted as .6
[1 What does the author probably mean by I [I in the first
paragraph? 70 The first two sentences in the second paragraph tell us
that . 8] From the last sentence of the first paragraph we
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